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��������������������� � !����"�����#$��%������#�&# '���(�����)!�����*
���##��"�%+!#"����#"�����#$�
�������,���#��%������� �+�-.���#/#-�$#+�
��.�)�������"� -��(#����&���.0��"� ����#$1� �-.23�2!#" � ����#$�� 3��*
��"�#� ��3����"� '��+%-��,� 
����������� ����#$��4�.��� 1� 
�������1� �%�*
����� #� 5����,� ��-�(���� '�#�$#'#�.0���� ��(.#3#+� ���� #$� 
�������� #�
5����1��� 6+��+2!#�����)����#��%�-�(���.0�����&#'�� �(���%�����,��

7.23����� �.��� $� +,-.,+/0.� 123+-4.511�� 67./18�� 4.601-+9.�
218�� +-/+:+2.;<2=8� 4./-15=�� 09.>1+-/+:+2.;<2=8� 4./- 15=��
4./-15=� �?.4.-.�� 4./-15=� @8;891A.�� A16;.� �8-6822.�� A16;.�
B8-4.��0-1/8-1C�DC;8-.�B8-4.�

�

%��(()*)+,)�

E1-+0+8�928?-8218�513-+9=F�/8F2+;+:1C�9�+,;.6/GF��69G>.22=F�6�+,-.,+/0+C��F-.282184�1�
H8-8?.A8C�1>+,-.7821C�1�91?8+H+/+0+9��6/.9G/�9+H-+6�+�H8-864+/-8�+62+9��2.�0+/+-=F�,.>1-I�
8/6G� 6+9-84822+8� H-8+,-.>+9.218� /.0+C� 123+-4.511�� J;G� ,+;<K+:+� 0+;1A86/9.� H-1482821C� 9�
/.01F�>.?.A.F�16H+;<>IL/6G�4./-15=� �?.4.-.��H+;IA82 2=8�6�16H+;<>+9.2184� -.>;1A2=F� .;:+�
-1/4+9���

�1H+/8>.��?.4.-.�+�0-./2+6/1�A16;I���>2.A821C�H+-G? 0+9�41214.062=F�09.>1+-/+:+2.;<2=F�
4./-15�M�N�O� >.0;.?=9.8/� +62+9=� +,P8C� /8+-11� 6++/98/6/91G� 58;=F� A168;� 1� H+-G?0+9� +-/+:+�
2.;<2=F� ,.>16+9�� �.>91/18�Q/+C� /8+-11�69G>.2+�6� -.6K1-82184�+-/+:+2.;<2=F� ,.>16+9�>.� 6A8/�
H+160.�1�166;8?+9.21G�09.>1+-/+:+2.;<2=F�4./-15�28A8/2=F�H+-G?0+9��

�./-15.��?.4.-.�R -./.0.1/ S�N�09.?-./2.G�4./-15.� 8 2�H+-G?0.�2��6+6/+GP.G�1>�A168;�T�����U��

6/+;,5=�0+/+-+C�+-/+:+2.;<2=� V
28 8 2�W�29��:?8�9�N�8?121A2.G�4./-15.��D/.�4./-15.�41214.06�

2.G�9� /+4�64=6;8��A/+�2.�42+786/98�+-/+2+-41-+9.22= F�4./-15� /+:+�78�H+-G?0.�4.0614I4� 0 �
R0 �2+-4.�4./-15=S�.,6+;L/2=F�>2.A821C�88�Q;8482/+9�41 214.;82�M�O��X8-9=C�.;:+-1/4�9=A16�
;821G�41214.062=F�4./-15�H+-G?0+9�2�W��3�H-8?;+71;��1;<986/-�R 456789:81�;�;�S�M�O��D/+/�+?12�
1>� 6.4=F� -.6H-+6/-.2822=F� 6H+6+,+9� 9=A16;821G� 4./-15� �?.4.-.� +62+9.2� 2.� H-198?822+C�
2178�3+-4I;8�
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:?8�9�0.A86/98�2.A.;<2+:+�>2.A821G�16H+;<>I8/6G�A16;+� 8 � �W����

�?.4.-�+/48/1;��A/+�4./-15=��1;<986/-.�+,;.?.L/�Q06 /-84.;<2=4�>2.A82184�?8/8-412.2/.�
2.�42+786/98�98P86/9822=F�4./-15�6�Q;8482/.41��28�H-89+6F+?GP141�����2�2.K8;�1�+HI,;10+�
9.;�H.-I�4./-15� 8 ��� 1�8 �� �M�O��28�9F+?GP1F�9�H+6;8?+9./8;<2+6/<�4./-15��1;<986/-.��2+�+,;.?.�
LP1F� 6F+?2=41� 0.A86/9.41�� X+>?288� ,=;1� 2.C?82=� 4./- 15=� 1� H+6;8?+9./8;<2+6/1� 4./-15��
H+?F+?GP18�H+?�+H-8?8;8218�4./-15��?.4.-.��9�69G>1�6�A84�9+>210;+�H-8?H+;+78218��A/+�28+,�
F+?14+8� I6;+918� 1F� 6IP86/9+9.21G� G9;G8/6G� /.078� 1� ?+6/./+A2=4$� H+-G?+0� 968F� R>.� 160;LA8�
2184�H8-9=F�?9IF�4./-15�H+6;8?+9./8;<2+6/1��1;<986/ -.S�4./-15��?.4.-.�� 2�W��3���

X8-9+8� 2.1,+;88� 6IP86/9822+8� +,+,P8218� 4./-15� �?.4. -.� ?.;� @8;891A� R<8687=:>?� @�S� M�O��
H-8?;+719K1C�6F+?2=8�4./-15=�6�Q;8482/.41�T�������� U�H+-G?0+9��0-./2=F�A16;I����

�8A8/2=8� A16;.� H+6;8?+9./8;<2+6/8C� �3Y�� 1� � 3Y��R1;1� � 3N�S�998;1�B8-4.� 1�DC;8-��B8-4.�
I6/.2+91;��A/+�96G0+8�H-+6/+8�A16;+�91?.��3Y��4+78/�,=/<�H-8?6/.9;82+�9�91?8�6I44=�09.?-.�
/+9�?9IF�58;=F�A168;��H-1A84�8?126/9822=4�+,-.>+4��X-+6/=8�A16;.�91?.� � 3Y���9�91?8�6I44=�
09.?-./+9� A168;� 28� H-8?6/.914=�� D/+� +,6/+G/8;<6/9+�16H+;<>I8/6G� 9� /8+-11� 4./-15� @8;891A.��
H+60+;<0I�0-1/8-1C�DC;8-.�B8-4.�+�-.>;+714+6/1�A16; .� 2N��2.�6I44I�?9IF�09.?-./+9�9F+?1/�9�
H-+98-0I�28+,F+?14=F�I6;+91C�1F�6IP86/9+9.21G��

�

A��B�B�C)++D)� �E$,FD��*� �$��+)G)E+DH��B$I*JB(�

��I6/+G9K8C6G�/8+-11�4./-15��?.4.-.�H-8?H+;.:.8/6G� �A/+�H+-G?+0�1F�?+;782�,=/<�A8/2=4��
H+Q/+4I�+,+,P8218�2.�28A8/2=8�H+-G?01�289+>4+72+���486/8�6�/84��28A8/2=8�H+-G?01�31:I-1�
-IL/� 9� /8+-11�Q/1F� 4./-15�� 2.A12.G�6� /-191.;<2=F� /8 +-84� +� 6IP86/9+9.211�� 0+/+-=8� I?.8/6G�
?+0.>./<����-.228C�/8+-11�4./-15��?.4.-.�31:I-1-I8/ �/.0�2.>=9.84+8�G?-+�R>K18S�H+-G?0.�2N���
��A.6/2+6/1��1>�/8+-84=��1;4.2. �;L=60.2�M�N�S�M�O�6;8?I8/��A/+�4./-15.��?.4.-.�H+-G?0.� 2�6I�
P86/9I8/��86;1� 2N��N�H-+6/+8�A16;+���8+-84.��1;4.2.�28�6+?8-71/�+,- ./2+:+�I/98-7?821G���.0��
2.H-148-��4./-15.� �1;<986/-.�H+-G?0.� 2�W� �Z�+H-8?8;822+�6IP86/9I8/��F+/G� �2�N� ��W� ��� �N�28�
H-+6/+8� A16;+�� �.014� +,-.>+4�� Q/.� 1�H-+A18� /8+-84=� 0.6.L/6G� /+;<0+� I6;+91C�6IP86/9+9.21G�
4./-15�280+/+-=F�+6+,+�H-+6/=F�/1H+9��2+�28�+H16=9.L/�1F�9�58;+4����

��H+?F+?8�@8;891A.�4./-15=� �?.4.-.�+0.>=9.L/6G�6;+7 2+�6+6/.92=41�4./-15.41� I?9+82�
2+:+�H+-G?0.��X+60+;<0I�H+-G?+0� +,+,P822+C�4./-15=�@8;891A.�+0.>=9.8/6G�9?9+8�482<K14��
A84�2�W� �3�� 86/86/9822+� H-8?H+;+71/<�� A/+� ?1F+/+41L� 4+72+� H-14821/<� 1� ?.;88�� H8-8F+?G� 0�
28A8/2=4�H+-G?0.4���.014�+,-.>+4��I�4./-15��?.4.-.� 86/<�6+6/.92=8�A.6/1�28A8/2=F�H+-G?0+9��
0+/+-=8��9�69+L�+A8-8?<��4+:I/� -.664./-19./<6G�0.0� 1F�+,+,P821G��X8-9=8�28A8/2=8�H+-G?01��
0+/+-=8�-.664+/-14�H+?-+,288��69G>.2=�6�A16;.41��8- 6822.��2�W��3��N����

�����������	
� ��,+,P822+C�4./-158C��?.4.-.�28A8/2+:+�H+-G?0.�,I?84 �2.>=9./<�4./-15I�6�

+-/+:+2.;<2=41�6/+;,5.41� V
2 2< < �W�OR2S9�� � :?8�9�N�8?121A2.G�4./-15.��OR2S�N�986+9+C�0+Q3�

315182/��6�?9I4G�>2.A821G41�88�Q;8482/+9�T. ��NPU��N��I-+92G41��

�8�/8-GG�+,P2+6/1�1>;+7821G��?.;88�,I?84�H+;.:./<� .� W����P�Q�.���./-15.��?.4.-.�I?+9;8/�
9+-G8/�Q/+4I�+H-8?8;821L��H+60+;<0I�?;G�288��P�W�. ���OR2S�W�2��

J����
��
�����
�
�� +,+,P822+C�4./-15=��?.4.-.�4+78/�,=/<�,+;<K8�?9IF�� 2.H-148-��/-1�
I-+92G�N�I�4./-15�@8;891A.���:-.21A146G�-.664+/-821 84�4./-15�6�?9I4G�I-+92G41��,+;88�,;1>�
01F�0�4./-15.4��?.4.-.�� �
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�������� >,� �.� 28A8/2=F� H+-G?0.F� 2� W� �3� N� �� 6IP86/9IL/� +,+,P822=8� 4./-15=� �?.4.-.��
0+/+-=8�,I?84�2.>=9./<�4./-15.41��?.4.-.��8-6822.�� ��

*���R��
����
�� 	�.664+/-14�4+?13151-+9.22IL�3+-4I;I��1;<986/-.��
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:?8� 2< N�280+/+-.G�6/.-/+9.G�61448/-1A2.G�4./-15.� �?.4.-.� �8-6822.�� .�4./-15.� [
2< � +,-.�

>+9.2.�H8-86/.2+90+C� I-+928C�.� W� ��1� �P�R+,+,P.8/� +H8-.51L�1298-/1-+9.21G� I-+928C�9� .;:+�
-1/48��1;<986/-.S��X+;IA822.G�H+�3+-4I;8�R�S�4./-15 .� ?� 2�61448/-1A2.��6++/98/6/9I8/�Q;8482/�
2=4�6+6/.9+4�2I72+C�2.4�4./-158��2+�88�H+-G?+0�A8/82�1�2.�8?1215I�482<K8�H+-G?0.�6;8?IL�
P8C�4./-15=� �8-6822.� < � 2Y�� ��J;G�-80I-6192+:+�H8-8F+?.�+/�4./-15=�0�4./-158�+? 2+:+� ;1K<�
I?9+821G�H+-G?0.�28?+6/./+A2+��28+,F+?14+�?+H+;21/8;<2+8�+0.C4;8218�4./-15=� ?� 2�N�?+,.9�
;8218�6/-+01�1�6/+;,5.��

�3+-41-I84�4./-15I� < � 2Y� �HI/84�6;8?ILP8:+�+0.C4;821G�4./-15=� ?� 2�91?.�R�S$�
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:?8�S��@�N��6++/98/6/9822+�6+,6/9822+8�A16;+�1�6+,6/9822=C�980/+-�4./-15=� ?� 2���:.-.2/1-ILP18�
6+F-.28218�+-/+:+2.;<2+6/1�4./-15= �< � 2Y�� ��A/+�6;8?I8/�28H+6-8?6/9822+�1>�H+?6/.2+901�R�S�9�

I6;+918�+-/+:+2.;<2+6/1� V
0 0< < W�OR0 S9�� �0�T� � 2�Y� ��� �1� -.664+/-821G�H+;IA.84=F�H-1�Q/+4�

,;+A2=F� -.9826/9�� J;G�6/.-/.� -80I-6192+:+�H-+5866.� 9=A16;821G�4./-15� �?.4.-.��8-6822.�9�
-.,+/8�MZO��,=;.�H-8?;+782.�4./-15.�H+-G?0.�� 2�W����]��P�T�.U����
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. P .
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� ��� �
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6++/98/6/9ILP.G�H8-9+4I�28/-191.;<2+4I�A16;I� �8-682 2.��X+;IA.84=8�H-1�Q/+4�4./-15=�,I�
?I/�61448/-1A2=41�?9IFI-+9289=41�4./-15.41��?.4.-.� �8-6822.�H+-G?0+9��2�W��3��N�����

�.� -16��� H-198?82=� H+-/-8/=� /-8F� H8-9=F� 4./-15� H+6; 8?+9./8;<2+6/1�� @8;=C� 09.?-./� 2.�
H+-/-8/8�6++/98/6/9I8/�8?12158��.�A8-2=C�R>?86<�1�2.�H+6;8?ILP1F�-16I20.FS�V�+/-15./8;<2+4I�
Q;8482/I��VP��

�

�

�

�
�

$���%��X+-/-8/=�4./-15��?.4.-.��8-6822.� < �� ��< ^���< �� �H+-G?0+9��-.92=F�A16;.4��8-6822.��
�



��A

�A891?2+��A/+�+21�6+H-+9+7?.L/�4./-15=��1;<986/-.�� 2+�+/;1A.L/6G�+/�21F�28A8/2=41�H+�
-G?0.41�� �8288�/-191.;<2+�/+��A/+�9� I6;+91GF�/8+-84 =��1;4.2.�MZO�14822+�Q/1�4./-15=�6++/�
98/6/9IL/�H+-G?0I� 2N��1�+,-.>IL/�G?-+�R >K18S�4./-15��?.4.-.�H-1�I6;+911�+0-I:;821G�4+?I;8C�
I-+928C�?+�58;=F�A168;�.� W�P�T���M^O���/48/14��A/+�-.,+/8�M^O�9H8-9=8�+H16.2+�+0-I:;8218�>2.�
A821C�I-+928C�H-1�H8-8F+?.F�+/�4./-15��?.4.-.��8-68 22.�0�4./-15.4��?.4.-.��X-1�H8-8F+?.F�
+/�4./-15�@8;891A.�0�4./-15.4��?.4.-.�.4H;1/I?.�_+0 -I:;821G`�4.0614.;<2.�1�6+6/.9;G8/����I�
4./-15��8-6822.����a� P�W�.�T����

��?+6/+126/9.4�4./-15��?.4.-.��8-6822.�+/2+6G/6G� .2 .;1/1A8601�H+;IA.84=8�F.-.0/8-16�
/1A86018�I-.92821G�?;G�-.6A8/.�1F�I-+928C��H-198?822=8�9�/.,;158�����

�

�� .#$��>,�

X��
�
������R���
�������
�
�� 
 ������Y�

3� �./-15.� b-.928218� b-+921�

�� < � � ��P�W�. � ��P�W�. �

�� < � � ��� P�N�. �W��� ��P�W�. c��

�� < ^� ��P�� N��.P�Y�� . �� W��� ��P�W�R��d � S�. �

�� < �� � ��� P�� N�e.P�Y�� . �� W��� ��P�W��. �c��1��P�W��. �

�� < �� � ��^P�� N��Z.P�Y�e. �� W��� ��P�W�Re�d�� � S�. c^�

Z� < Z� � ���� P�� N��� .P�Y��Z. �� W��� ��P�W��. �c����P�W��. �c��

^� < ��^ � ���� P�� N�Z�.P�Y��� . �� W��� ��P�W�R���d�� � S�. �c���

e� < ��� � ��Z�P�� N���e .P�Y�Z�. �� W��� ��P�W�e. �cf��1��P�W�e. �c^�

�

g2.A821G�I-+928C�1� I-.92821G�H-198?82=�?+�2�W������2+�/.,;15.�;8:0+�4+78/�,=/<�H-+?+;�
782.���


16;.� �8-6822.� H-12.?;87./� 0� H+?42+786/9I� A168;� 91? .� � 3�N� ��� �2.;+:1A2=8� /.,;15.� 1�
4./-15=� 4+:I/� ,=/<� 2.C?82=� ?;G� H+-G?0+9�� +H16=9.84= F� H+6;8?+9./8;<2+6/<L� A168;� B8-4.�

�� �
3

2 � 
 ��0+/+-=8�H-12.?;87./�H+?42+786/9I�A168;�91?.�� 3�Y�����.018�4./-15=��+,+,P.LP18�

4./-15=��1;<986/-.�H+�>2.A821G4�H+-G?0+9�,+;<K14��A84�A16;.� � 2�W��3�� -.664+/-82=�9�-.,+/8�
MeO���.72+�H+?A8-02I/<��A/+�+,+,P821G�4./-15��?.4.- .�9+>4+72+�4./-15.41�28A8/2=F�H+-G?�
0+9��3�N���1��� 3�Y����H-1A84�6;IA.C�A168;��8-6822.�,+;88�9.782��/.0� 0.0�Q/1�A16;.�96/-8A.L/6G�
6IP86/9822+�A.P8��A84�A16;.�B8-4.���

�

Z��[,�BE)\����]B+,+��

�,-./14�9214.218�2.�/+�+,6/+G/8;<6/9+��A/+�9�-G?I�+ ,+,P822=F�4./-15��?.4.-.��8-6822.�
28/� 4./-15�28A8/2=F�H+-G?0+9�2�W� ��� 1� 2�W� �f�� �84�28�48288�� 9� -.,+/8�MfO� ,=;1�2.C?82=�?98�
?9IFI-+9289=8�4./-15=� < �� �1�< �f� �6�+-/+:+2.;<2=41�6/+;,5.41��H+0.>.22=8�2.�-16���1� ���

�6+,822+6/<�Q/1F�4./-15�6+6/+1/�9� /+4��A/+�1F�+/-15 ./8;<2=8� I-+921�+H16=9.L/6G�+,P8C�

3+-4I;+C� ?;G� 4+?I;G� I-+92G$�
�

�

^ ^
P .

^

�
�

�
�� � ^� W�2Y�� RH+-G?+0� 6+68?28C� 4./-15=� �?.4.-.S��
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